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IN THE UNITED STATES DISTRICT COURT
FOR THE NORTHERN DISTRICT OF IOWA FILED
CEDAR RAPIDS DIVISION ..om“‘é&’&"“mwg,m

CEDAR RAPIDS
BRADLEY O'GARA, o HZ 4@

Plaintiff, No. C00-0076
Vs. VERDICT FORM

CEDAR RAPIDS AND IOWA CITY
RAILWAY COMPANY,

Defendant.

QUESTION NO. 1:
Was the defendant Railroad negligent as claimed by the plaintiff?

Answer “Yes” or “No”
ANSWER: NO

(If your answer is “yes,” go to Question No. 2. If your answer is “no,” sign the verdict

form and inform the court attendant.)

QUESTION NO. 2:

If your answer to Question No. 1 was “yes,” did that negligence contribute in whole
or in part to the plaintiff’s injuries?

Answer “Yes” or “No”

ANSWER:

(If your answer is “yes,” go to Question No. 3. If your answer is “no,” sign the verdict

form and inform the court attendant.)
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VERDICT FORM (Cont’d)

QUESTION NO. 3:

Was the plaintiff negligent?

Answer “Yes” or “No”

ANSWER:
(If your answer is “yes,” go to Question No. 4. If your answer is “no,” go to Question
No. 6.)

QUESTION NO. 4:

Did plaintiff’s negligence contribute in whole or in part to his injuries or damages?
Answer “Yes” or “No”
ANSWER:

(If your answer is “yes,” go to Question No. 5. If your answer is “no,” go to Question

No. 6.)

QUESTION NO. 5:
Using 100% as the total combined fault of the plaintiff and defendant, which was

a cause of damage to the plaintiff, you must decide what percentage of the total fault is

attributable to the plaintiff and what percentage of the total fault is attributable to the

defendant.
ANSWER:
Bradley O’Gara %
Cedar Rapids and Iowa City
Railway Company %
TOTAL 100%
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VERDICT FORM (Cont’d)

QUESTION NO. 6:

State the total amount of damages sustained by the plaintiff. Do not take into

consideration any reduction of damages due to plaintiff’s fault.

1. Physical pain and suffering in the past. $
2. Physical pain and suffering in the future. $
3. Loss of full body in the past. $
4.  Loss of full body in the future. $
5.  Lost wages in the past. $
6. Loss of future earning capacity. $

TOTAL $




